a1xy Farxo+ ... rayxry

Einstein
7.1 nonation
T T
:E, y? Z
r=zi+yjg+zk
ia jv k T, Y,z
t, 3, k
z, Y,z T1, T2, T3
2 vy 3 =z
(7.1)
r=1x1€1txr€7 +1I3€E3
A
A:A1€1+A2€2+A3€3
8 9 o 0
9 927 By Bz Oy, Oy, 0y, 0
0 9 0
Ox1? Ox2? Ox3
81,82,83 V

0 0 0

= {4 —+7 —+ Lk —

v e Jay 0z’
= 1:(9gg+j8y+kzaz7

= e Oh+eydr+ez0s
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i=1 @iTi

(7.1)

€1, €2, €3

(7.2)

(7.3)

(7.4)

(7.5)
(7.6)
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7.2 summation rules, Einstein’s nota-
tion
2
1 3
T = r1€e1tre;+a3€3,
3
= ineia
=1
>
1: 2
T;€; = Tj€; = Tk €
dummy index
2: 2 , 1~2
1~ N
A = Ae; (7.8)
Vy = e;0. (7.9
(7.10)
7.3 Kronecker
2 Kronecker
0, (] )-
8 = 7.11
! { 1, G,j ). (71D
Kronecker
€, -e; = 52']‘ (712)



7.4. Eddington 47

ébci
8£Ej

Kronecker V.- A

V-A = (e9)-(Ajey)

€ €; 8ZA]
(51'3' @AJ
7.4 Eddington

3 Eddington

L G4,k =00,23), (231, 312

ege = § -1, (6,,k) =(,2,1), (2,1,3), (1,3,2) : (7.15)
0,
€ijk — —Eikj- (716)
Eijk =1 (7:7.7.7 k) = (17273) ) Eijk =-1 (ia.jv k) =

1,2,3)

aixz a2 ais

A = a a3
az1 dasz dass
, Eddington
aix aiz Aais
detA = | ax ax az

a31 dasz dass

=  Eijk A1; Q25 Q3. (717)
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a) z2 + 3+ 23

b) df(z1,x2,x3).

i) Kronecker

i) 0,4,

V) 0ii0k

V) (9;2:)(Okz;) = dik
vi) (7.17)

vii)

b)

A-(BxCQC)

€1 € €3
= Al Ao A3
B, B, Bs

Eijk €4 Aj Bk

e, e e3
= (91 82 83
Ay A, Aj

€ijk €4 @Ak

; 61‘]‘; Eijk

) (5ija Eijk

BxA=—-A x B,

= B-(CxA)=C- -(AxB),

(7.18)

(7.19)



7.4. Eddington
VIII) €ijkEilm — 5jl5km - 5jm5kl
iX) Lagrange v- Vo

v-Vv=V(%|v[2) +wXxwv

v
Bernoulli

X) Vx(SA)=(VS)x A+ S5(V x A)
xi) Vx(Vg)=0

Xii) V- (V x A) =0
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(7.20)

w=Vxw



